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1. Introduction

In the last meeting, the TR skeleton for AAS WI [1] was approved and some coexistence simulation study was also captured into the TR [2] but without UE specific beam forming results. UE specific beam forming simulation should be completed as soon as possible. So in this contribution, we prepare TPs on results of UE specific beam forming coexistence simulation to AAS BS WI TR 37.cde [1]. 

2. Proposal

It is proposed that the following text proposals are included in the AAS BS WI TR 37.cde [1] to capture results from [2].
Reference

[1] R4-140240 Technical Report for AAS WI Ver 0.0.1  Huawei, NEC
[2] R4-140031
Text proposals for coexistence simulation study to AAS BS WI TR 37.cde  ZTE, Tejet 
----- Start of TP -----
A.2 Results of UE specific beam forming application
Case 3a: AAS E-UTRA Macro system: UE specific beam forming - AAS E-UTRA Macro system: UE specific beam forming
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Case 3b: AAS E-UTRA Macro system: UE specific beam forming – Legacy E-UTRA Macro system
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Case 3c: Legacy E-UTRA Macro system – AAS E-UTRA Macro system: UE specific beam forming
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Case 3d(Baseline): Legacy E-UTRA Macro system – Legacy E-UTRA Macro system
	
	ACLR per element(dBc)

	
	30
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	50

	Cell average throughput loss (%)
	5.4787 
	3.7648 
	3.0779
	2.8370 
	2.7582 

	5% CDF throughput loss (%)
	18.0000
	11.6500 
	9.3100
	8.4600 
	8.3500


---- End of TP ----
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Case 3c: Average
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Case 3b: 5% CDF
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Case 3b: Average
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Case 3b: 5% CDF
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Case 3a: Average
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Case 3a: 5% CDF
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